
www.rauplan.com | rauplan@rauplan.com | puh.02-273 1800
Salvumiehenkatu 10, 20320 Turku

VARAOSALUETTELO, Suihkusuutin B
SPARE PARTS, Sprayer nozzle B

Koodi 
Code

Sopii malliin
Suitable to

Nimike 
Name

B135B-01 B, C, D 1 /Lautasen ruuvi M6 x 35 mm A4
Screw for shut off plate M6 x 35 mm, A4

B135B-02 B, D 2/ Sulkulautanen Ø18 POM
Shut off plate Ø18, POM

B135B-03 B,C, D 3/ Lukitusmutteri AV8 x M6 mess.
Locking nut 8AF x M6, brass

B135B-05 B, D 4/ Hajotuspää iskusuojalla Ø30 x 51 mm, krom. mess.
Spray head with plastic cover Ø30 x 51 mm, chrome plated 
brass

B135B-06 B, D 5/ O-rengas 2,4 x 17,3 mm 70 NBR
O-ring 2,4 x 17,3 mm 70, NBR

B135B-07 B, D 6/ Runko AV 25 x 53 mm, kromattu mess.
Body 25AF x 53 mm, chrome plated brass

B135B-08 B, D 7/ Kahvaputki 1/2” x 124 mm, RST
Pipe with threads 1/2” x 124 mm, AISI 304

B135B-09 B, D 8/ Kädensija, sininen Ø20 mm, muovia
Handle Ø20 mm, plastic, blue

B135B-10,-11, -12 B 9/ Letkukara G1/2 sk-Ø13mm,-Ø16mm,-Ø19mm, messinki
Hose tail G3/4 sk-Ø19mm,-Ø25mm, brass


